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Class 12 - Mathematics

il L dr = Atanfl(Btan % + %) + C, then

5+4sinx
2 5
a) A= —g,B =3
1 5
C) A = g,B = —3
1 |z
Sy Tde ="
a) None of these
c) 2.5
[ (sin® z + 2'%) dz = 2
a) 1257
c) %
[ ®x2¥)dx =2
2%‘
a) E (xlog2-1)+C

(log2) (log2)®
The value of the integral f_22 11— 2?|dxis

a)4
c) 2

Evaluate: [ sin®x dx

241 g
72241
Evaluate: [sin(e®)d (e®)

. 14-cos 4z
Evaluate: f N Sv—

102°+10°.l0g,10

210410
dx

sin x cos

Evaluate the integral: [

Evaluate [ dx

Evaluate: f oyt

Evaluate fjl log ( g_i )dzc

dz
Evaluate: | ————
f \/ T—6z—2x2
= (1-3
Evaluate: [ wdm
4

sin” x
Evaluate : f xdzr.
2
X

1—x6

Integrate the function

Evaluate : [z~ "dz.

b) A=
d A=

B
B

Wl W=
w|ot wolro

b) 3
d) 1.5

b) 27
d)o

b) None of these

) 2

D) (x+log2)+C

b) 0
d) -2
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Find fx%an’lxda:.

Evaluate: [ ¥ (tan x + log sec x) dx
Evaluate: [sin"!( 3x - 4x 3)dx
Evaluate: f sl __ g,

sin 5z sin 3x

Evaluate the integral: [ +2) dx

Evaluate: [sin® x cos® x dx

Integrate the function v'z2 + 3z
, 1
Evaluate: [ 5————dz

dzx
v/ r2+42+3
Evaluate f02 ( 2422+ 1) dz
11
Evaluate: f7r/4 21 —32°+52"—z +1d$

/4 cos?z
Evaluate: f

Evaluate: f 12

l—cosz
cos z(1+4cos z)

dx

2
Evaluate: o 4w2)

Evaluate: f03/ ? |zsinnz|ds
Evaluate f 3x+5 ——=dz

Evaluate: f sm5 x dx

Evaluate the integral: [(z + 2)vVz?+z + 1dz
1

Evaluate f z;g dzx
14z 4
(Hint : Put x = z4)
Evaluate f14 (3:82 + 2:c) dx

. 2, .
Evaluate the integral: fow/ |sinz — cosz|dx

T xsinx
0 1+4cos2z )
Evaluate: fo (:1:2 — a:) dx
Integrate the function m2+2;m+ 5
Evaluate: f %dw
r—X
2z—1
Evaluate [ = ($+2) ($_3)d:c
1
Evaluate [’ o \/1 (Hint: let X = sin )
117 .’L'
Evaluate: f1 (3x + 2z + 1) dx
Evaluate: f (5 +;) dx.

Evaluate the mtegral as limit of sum: f 13 e *dx.
Evaluate ff’ (23:2 + 5x) dx as a limit of a sum.
Prove that fo (vtanz + y/cot z)dz = +/2. 5
Evaluate: fo |z? + 2z — 3| d=.

4

By using the properties of definite integrals, evaluate the integral f | — 1| dz.
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